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Algebra1 2.4

Solve equations with the variable on
each side. Quiz 2.3-2.4 Wed.

Solve equations with grouping symbols.

—2 identity Whiteboards
—> no solution

G mmIN A 5213 J(xes)= 3

-o -5

— T ¥3x+= (=14
RS PG+t
> = -
a = :l A
x=T 2x = 4 /2



ConceptSummary Steps for Solving Equations El
Simplify the expressions on each side. Use the Distributive Property as needed.

Use the Addition and/or Subtraction Properties of Equality to get the variables on one side
and the numbers without variables on the other side. Simplify.

Use the Multiplication or Division Property of Equality to Solve.

-




4. Find the value of x so that the figures have the sgme gerimeter.

v
v
?«—l b };1 “fl-b e
3
e © Qxradx FAXTIF X
5 5z %D = 6X +¢
F 15 H 32 J 4

XX+ |A ':-6)(*‘7‘

- % — 2K avv\—l’g:—-gm4—)7
gz ex~9 -2 —an
~¢ ~ -
| e < —— (3= —(Owrt &7
So LA — 3oy X = a = S0 -39
10. J4 1278 v (D2m-13=-8m+27 —
12 9x —4=2x+3 @o+3t=58-14 "’Lfot-"low\
@ [levr -.:7& - g —lo
Sl ~
“_—-—--—__la;__ W T Y



=66

17. 6(n + 5)

4(r +4)

16. 8

X
o >
~\= |
T STy,
) b N
3 o5
Lls 33
Lo |




18. 5(g + 8) — 7 = 103 19. 12 - 2(x +15) = 4

20. 33m — 2) = 2(3m + 3) 21. 6(3a +1) —30=3(22 — 4)



3-5

;;(K#b):ch—g Sx+a = S(x+§)

Sy +1d TAX =3 Ox+d T Sx 44
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